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. Add together four seore, two hundred and seven, 890, 649, and 17.

. Multiply four hundred and sixty-one by 9. :

. Find the sum of 619, 805, 219, 50, and 887.

. 398 x T.

. I have 3 shillings, 4 sixpences, and 4 threepences. How many pence ?

Standard II.

. From eighty thousand and sixty-one take away 6940.

. 29108 x 1905.

. Divide one hundred and fifteen thousand and three by 7 (long division).

. From the sum of 6920, 17080, 289, 728, 9375, and 19918, take away 2507.
In an easy way multiply 62895 by 9.
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. 61085 — 19708.

. Multiply twenty-nine thousand six hundred and eight by nineteen thousand and six.
. In an easy way find the product of 48901 and 11.

. 17082 =+ 6.

. 6705 times 801 4 17928 x 690 4 4801 x 500 -+ 19708 + 619.

Standard III.

. Eighty millions five thousand x 650.
. 2’ 6” + 4’ 9” + 7! 8" + 2’ 3" + 13’ 7” + 8' OH.
. 8ac. 2ro. 13po. x 24.

. Reduce 620lb. to cwt. qr. 1b.
. 18 yards at 8s. 73d. a yard.
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. 106004 x 1000 = 75. Write answer in words.

. Ounces in 16lb. 10oz.

. 10 books at 11s. 8%d. each.

. From 18 miles 13 chains take 11 miles 40 chains 20 yards.
. £145 11s. 6d. + 42 (factors).
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Standard IV.

. 9s. 94. + 5s. 81d. + 6s. 113d. 4 18s. 3d. + 4s. 23d. + 3s. 6d. + 17s. + £1 10s. + 12s. 94d.
+ 13s. 6d. 4 8s. 10d. + 2s. 74d. + £2 2s. + 3s. 44d. 4+ 17s. 6d. + 5s.

. § = & What decimal is &?

. 801:5 x 168. G.C.M. of 615 4 360.

. By both common fractions and decimals, % + §--2.

. £65 a mile is how much a chain ?
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. Add 16ch. 10yd., 40ch. 18yd., 53ch. 5yd., 17ch. 11yd., and 27ch. 30ft.
. 2% x 2. Express 0-0125 as a common fraction (lowest terms).

. 874256 = 12'5. L.C.M. of 12, 15, 80.

. By both common fractions and decimals, {5 —& + 2.

4g. 6d. a day is how much for June?

Standard V.
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1. Value of £0-531.

2. By decimals, 6185 at £1 14s. 6d. each.

3. By decimals, £716 18s. 3d. + 25.

4, Bill: 6lb. 100z. at 4s. a 1b.; 200yd. at 1s. 9d. a yard; 79% at £2 8s. 6d. each; and 60 at
£1 19s. 102d. rod.

5. 8. interest on £680 for 8 months at 6 per cent.

1. Value of 0:725 ton.

9. By decimals, £2 11s. 74d. x 600.

3. By decimals, £3,725 13s. 6d. + 12.

4. Bill: 110ac. 2ro. at £14 10s. an acre; 600ac. at £3 12s.; 100 at £6 18s. 3d.; and 501 at

5. 2% yards cost £1 10s., find the cost of 43 yards.

Standard VI.
Simoplify 2016 20 x 0-3625
- TPV 50018 x 25 x 40-08
. 5 dekagrammes 8 centigrammes at 8s. 6d. a gramme.
. Compound interest on £1,260 for a year and a half at 8 per cent., interest paid half-yearly.
. Value of contents of a tank 4ft. 6in. high, 2it. 8in. long, and 2ft. wide, at 6s. a gallon.
. 50 boards each lin. thick and 6in. wide cost £1 at 8s. a 100 running feet. Tind length.
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1. Add together 38 and B ana _ e
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